Ch. 1

9. 
A well-analyzed problem leads to a well designed algorithm. Moreover, a program that is well-analyzed is easier to modify and spot and fix errors.

10.


This is exercise 10.

In Java, the multiplication symbol is *.

2 + 3 * 5 = 17

11. To find the weighted average of four test score, first you need to know each test score and its weight. Next, you multiply each test score with its weight and then add these numbers; the sum is then divided by four to get the average. Therefore, 

1. Get testScore1, weightTestScore1
2. Get testScore2, weightTestScore2
3. Get testScore3, weightTestScore3
4. Get testScore4, weightTestScore4
5. average = testScore1 * weightTestScore1 +
         testScore2 * weightTestScore2 +



   testScore3 * weightTestScore3 +



   testScore4 * weightTestScore4;

Ch. 2

2.  
a, d, e, i, j

4. 
a. i; b. i; c. ii; d. iii;  e. iv; f. iv; g. i; h. iv;

